Chapter-17
Perimeter and Area

WORKSHEET

A. FILL IN THE BLANKS:

8. CHOOSE THE CORRECT ANSWER:

. The distance around a plane figure is called its QQQ_[:QQ,&QA

1

2. A farmer who wants to fence his field, must find the __ QX oQb of the field.
3.
4
S

Perimeter of a square with side 15¢cm is @O M

. Area of a rectangle with length 9 m and breadth3 m s a'i\r "3
. The area of a square field with side 11 cm is \(%\ \ 5q. cm.

&

Area of a square is Qf@\p\(S -de
b) Product of all sides b) sum of all sides ¢

ey \\ sude d) 2 x side
The area of a square is equal to the area ofa rectangle of length 8 cm and
breadth 2 cm Wh t IS the sgde of thg square?

; x A a8 W d) 8 cm

3) Gcm

The breadth of a rectangle is mcreased bv 2 cm. Its penmeter is now mcreased by

a) 2cm cm c)8cm d) 16 cm

8’ m is the length of a rectangle whose area is 72 m? and breadth is 9 m.

s) 6m  b)7m \gyEm dyom

of a square of side _\ Cm

1 square metre is the area

@)(Cm b)im ¢)1mm d) 1 km



C. SOLVE THE WORD PROBLEMS:

1. Vidya bought a tablecloth 4 m long and 3 m wide. She wanted to put lace around the

tablecloth.
i. Find how many metres of lace is required?

ii.  Find total cost of lace, if 1 metre costs % 4.

s danogty o) Eht boblecleth ~*4m

“Drgpith @% th tobloclath= ™M
he X (L +b)
AOLL Nooced = Pesimalan $o0h v
Vidgw needs \Am lage =X F= 14 m

Cost of '™ of |
c%ito«P \& of \ace. = \A(.XL\LE%EG
- Vidya will need @ |Am of lace 0f F 5§,

For the assertion (A) and reason (R} below, choose the correct altemative

2.
Assertion (A): Vidya needs to find the perimeter to put lace around the tablecloth

Reason(R): It is not possible to put lace on the surface of the tablecloth

Both A and R are true and R is the correct explanation of A.

b. Both A and R are True but R is not the correct explanation of A.

(\‘:%;s true but R is false

d. Ais false but R is true.

a.

Ans.




